PART - A

English Kn g il
e OWledge ke aiavﬁwsfﬂ

Arrange the followi - | '
£ propef :et;:e;ce(_)wmg Sentences in a - 3. Add the correct Preposmon LG
(a) Ravi Varma was an or T—_— Few friends met n.w ----- ‘the glmo 33
% (b) He bonght some colours ang i, A. at. MR
; canvas and started painting, . B. on’ £
( (c) Hesaw,a  beautiful painting and " et 7o J,
was hlghly 1nsp1red : s Lhe o8

(d) In hisLater life he became a ' . oyela  ; Ty ’

'famo_';_is.painte'r. “ g P
L 4 For the below Assertlon (A) and

(¢) He also wanted to paint.
A. (a), (0), () (@), (e) . Reason(R)choose the correct
it _ bt ~ alternative-
B. (c), (d),(e), (b), (a) - '  Assertion (A): Cows give us milk.
L. (a), (c), (e, (b), (d) Reason (R): Milk is reach in calcium.

D @, (b), (C)s (a) (e), A. Both Assertmn (A) and Reason
- . (R) are true, but Reason (R) is not

the correct explanatlon of.

- 2. Arrange the following sentencesina " Assertion (A).
proper sequence— - | kan ;
(a) The mangoes I Ul B E:-,;T:;;;g éA) is true, but Reason
(d) Over the years it grew into a huge : :
tree. ' i3 . - C. Reason (R) is true, but: Assertlon
‘(c) The tree was laden withripe 7 i (A) is false.
- mangoes - . g D, Both Assertion (A) and Reason
(d) He watered it every day A ¢ (R) are true, and Reason (R) is the
(e) Ram Planted a mango sapling. e t‘ezigrect explanatmn for Assertlon N

. A (3, (b),(e), (@), (©) .
! B. (e), (d), (), (©), (@)
L C©,0),@), @,
/D @@ @6, @




S. Ma_tch the following-

. Column-I =~ Column.-II

" (a) Although  (I) Preposition
(b) Slept (II) Noun
- (c) Beneath (III) Verb

(). Go[d Iv) Conjunctlon

A. a—II b-I c-IV d-III

B. a-l, b-I1, c-1I1, d-TV

C. aIL bellc-1V, d-I
"D, a1V, bl el &1

6. Which are the verbs in the hst given
below? Vi

() Agra ;

(b) Run ..,

(d) Faint

(e) JUIIlp
'A@®@@h
‘B. (b)s (C), (d) (e)

C. (@), (@), (b), ()
D. (©), (), @), @+ -

7. Use the correcg form of verb 1n the

“blank space. ‘ |
The boys -----in the field.
A. are play i L
B. is playing . et

- C are played .
¥ D.. are playing

2046i§HCCQ-BMv-REC-M.

3 Use the correct conjunctlon to jom the
-+ two sentences. j g

(D). Iam hungry‘ _
. (D) Thereisno food at home.
. A. But .
4 B, or |
: ‘( C, Unless 41 ,ff
D So l“

Yy _{'
3 § s
¥ f P
.20 :.“d

L

Whlch are the Nouns m the list glven
- below?

(a) Cat
(b) Table
(c) Comb
(d) Fast
(e) Bottle ¥

A. (a), (), (), (e)
B. (6),(0), @, (e)
C. (c), (@), @), (b):
D. (@, (=, 0. @)
| . Use the correct artlcle
Ravi has ----- very old car.
< A, a 0

. B. an

S1e  C. the

D. None of the ab'ovlé_

N



11 Choose’ the'correct active f‘orm of the . 13. Choose the direct speech converswn _
S for the given indirect speech sentence .

‘ sentence. F Lo
!_.ﬂg cut by the o '_" She said that it might rain that night. -

The grass is.

- labourers: 7 | A. She said, “It may ram tonight.”
.+ A The labourers cut the grass. i B. She said, “It should raln tonight.”"
| f - B. The labom‘efs were Cuttmg the S C. She sald “It will ram tomght ?
grass. '_‘_,}3:,! ¥ i »
i3 « t ;
C. The laboure > had cutthe grass, | . D. She sancl It can ram omght
Vo \ ;

D. The |abou;-ers are cutting the i . sk, |".' ;
grass; ﬁ 22 Jilir-"- iAoy
12, Identify the,scntences that are w14, Arrange the followmg sentences in the

~ correctly, coaverted into indirect correct order to convert the active
speech : voice to passive voice.

D Active Voice : The teacher explams

j the market 2 ;  the lesson. - |
Indu'cct - He said that he was . (a) The lesson -
gomg t_° the ma.rket f ; " (b) is explained
| (© by Y
du'ec _‘_ " Vi (d) 'theteacher =~ -
In '-She said that she = : '
would help me.” 5 A- @), (), (), @
(11I) Dlrect ‘They sald “Wehave ~~ B (a),(b) (), (d)
ﬁmshed our work.” . e " C. (a),(b), (@), (c)
Indlrect They sald that they _
have ﬁmshed our work ; ' « Wi D. (C), (a): (b)s (d) 3
(IV) Direct : They said, “We are |
| leavmgnow ” A
. Indirect ; They said that they LT e
: leavmg now : & ':--:l',rl z
A (Dand(m) -
. B. ()and (IV)
f ~ C. (D and (IV)

D @and(m

'SPACE FOR ROUGH WORK / T& &4 & ferd e

mesccommmen s (I « seg




* 15.

Cha’nge.the following sentences.
(Column-I) so that the verbs will be in

the Passive Voice (Column-II) and
match the following-

Column-I
(@) We saw you and him.
(b) He keeps me waiting.

“(c) Ibought the baby a doll.,
"(d) He told me to leave the room.

' Column-II

(I) - I was told to leave the room - ‘
| a A doll was bought for the baby.

(III) 1am kept waiting. _
(IV) You and he were seen by us.

A, a-IV b- III c-II d-I

B. a-I, b-IIL -1V, d-I

. C. adL bl L, d-IV

D. a-I, b-IIL, c-I1, d-IV

16. Here | is a list of descnptlons of some
people. B

)
(1)

A person who studles the stars
and planets B

A person who_studxes the mind
and behawour

(III) A person who ﬂe51gns buildings.
(IV) A person wh6 sells medicines.

Choose from the glven list the correct
one-word substltutlon

- Architect,

. - Astronomer, .

- Pharmacist, =~
- Psychologist -

. I-Architect,
" II-Astronomer, .ig-'.t' :'

III-Pharmacist, .
Iv- PSYChologlst

I-Architect, .‘:'.-1.: f‘
II- Psychologlst
III-Astronomer By
IV-Pharmams; e

; I-Astrono:mef,. i '
II-Psychologist;

II-Architect,. .
IV-Pharmacist -
I-Psychologist,
II-Pharmacist, -

II-Architect,
IV-Astronomer

(:(3F3£3(3 VYAPAM HUB _‘g

- 2046

) HCCG-BMU-REC-M

“SPACE FOR'ROUGH WORK / T w14 & fordr srmre %

o NNMUNTAMINUNN oo se



17. Scenario : De p"te his strong will and

determination, Jacob felt his resolve

starting to cmmble under the immense

pressure of the situation.
Question : Choose the antonym of the
word “strong?”’ as used in the context

of Jacob’s rcsolve .
A. Fragllc j i
B. Powcrful\-r :
C. Robust. ‘ '_
D. Sturdy ''/'"

. B Y EE ) -
FEA S Z il

1'_.

18. Scenario : Emma was preparing a

report for her English class. She kne\y +

- it was crucml to use the correct
spelling for. each word to make a good

Cﬁd words Wifat

in her rcport- ;
A Occurrence Emba‘rﬁlss

. B. Ocourran_cc, Embarass ;i
C. Occurrence, Embarass
D. Ocurrence, Embarrass

i

19. Scenario : Rajesh spends _moét_of his

weekends volunteering at various
charity events and helping those in
need. His friends often describe him
as someone who has a great love for
humanity. -
Question : Choose the correct one-
word substitution for “a person who
loves humanity” as used in the context

of Rajesh’s personality,- 5,450
A. Misanthrope

. B. Phllanthroplsb/

C. Egocentric
D. Altruist st

20. Scenario : The ancient castle stood in

the cold, Desolate landscape, its old

walls whispering tales of a bygone
era. However, w1th the arnval of |,

ed
the gorr YA P M | '
ma should use hoose tlle of the -

words “old” and “cold” as used in the
context of the castle and its .
surroundmgs

y A< New, Warm
~ B. Young, Tepid

C. Modern, Scorching
D. Fresh, Cool

g SPACE FOR ROUGH WORK / 1% Td o ford sme
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21. Scenario : Sarah is writing a formal
- email to her professor She wants to
© ensure all her words are spelled
correctly to mamtam a professmnal :

tone. . A a A personhwll‘ twes manklnd an
Question : Pick from the list the for works for, ﬂielr elfare
correct spellings given below- o (1) A person wh§ gg‘ileCts ‘O studie
(I) Accommodate - Ui stamps. : ;3(
(In | _Separate LT Ry av A person tralq_é‘dl.‘m the art of
(II)  Receit oIl healing, ;;y &
(IV) Definitely _ G Choose from the glgml. list the correc
(V)  Accomodate % one-word subst_ltutl' on#
(VI) Seperate - Physicist
(VID) Receipt - Philantl_iropi'st,g% 23
- (VII) Definately - Philatelist; | 72
A. V10, VI, VIII , -Physmlan v /.
B. I, VL III IV . I-Physicist, H—Phﬂanthroplst
(G I V[[ IV III-Phllatehst V=P
D. V,IL, VII -IV . I-Philatelist, II-Phllanthroplst

III Physicist, IV-Physwlan

I-Philatelist, H—Phﬂanthroplst
II-Physician, IV-Physmlst

-Ph1lanthropxst, II-Phllatehst
III-Physunan IV-Physxcxst

22. Scenario : 'I'he room was filled with -
~ bright sunlight in the morning, making
everything look cheerful and lively.

. However, as the sunset, the
atmosphere changed drastically. Sk
Question : Choose the antonym of the Xk
word “bright” as used in the context of
the room’s atmosphere changing.

"A. Dim /
B. Radiant

| C. Luminous
D. Clear

SPACE FOR ROUGH WORK / T T & oy e

usnccomssea o (IINIINNINN < s



24, Scenario : John aced his mathematics

€Xam and solved all the problems with et -~ S o N ..
ease, Hjs teachef described himasa : M i 7
very. Smart smdent 4. ' o o'} o
Question: Choose the’ synonym of the : ; By e
word “smart” as used in the context of winy i Vit P ’
John’s ablllthS- : . ) g e gt . . NGE
A. Ignorant t | .
B. Astute ' '
C C]umsy ;
B: Thegi
25. Scenario : Mana just received a “ i i 8
promotion at her job, and she feels Sl of :
extremely, happy about it. AR : & LA ¢
Question: Choose the synonym of the o e 54y
word “happ as used in the context of 5 i T
Maria’s emotlons - i
B 1381
C Melanchollc o | ty A fyd b §s
D' Sorrowful - l - e LA e ‘ L. :,
,Il T I.e.' 5

g
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PART B

Knowledge of Computer .
Operatmn

26. What is the full form of ‘ALU"?
A. Arithmetic Larg Unit
B. Algebraic Logic Unit
C. Ascii Logic Unit
D. ' Arithmetic Logic Unit

27. There are ﬁ&o statements marked as

Assertion (A) and Reason (R). Read
them carefully and select the correct

~ answer as per codes provided below-

Assertion (A): The Random Access
Memory (RAM) is used to store data
and instruction during the _op_erations ;
of computers..

" Reason (R) RAM’ is non—volatﬂe
memory.

- A. Both Assertlon (A) and Reason
(R) are True and Reason R)isa
correct explanation of Assertlon

(A): "
B. Both Assertion (A) and Reason

" (R) are True, but Reason (R) is not
a correct explanation of Assertion it

(A).

C. Assertion (A) is True, but Reason -
(R) is false.

D Assertion (A) is false but Reason :

(R) is True.

! Adcle ta wpf 3 e 11 : bR
Al S el R 1T LIS, A R SR e
TS O & AL LIEREL e Poll V CIEEN FuE 48 B AR

26 ALY mqgmma::rr%?.f

10

-._Awﬁmaﬁu;ﬁz'

C wﬁramz@z
D. iﬂaﬁﬁaaﬁm@zr

q e, aqﬁlm?(A)aﬂ'{m(R)%mﬁ
 qmitra R R A ARt AL T
me@ﬁmaw
T

-axﬁqm:r(A) i@.trqaévirchﬁ(aAM)

| R HETEH o A e

aﬂtﬁi&ﬁ@fuﬂ%ﬁﬁﬁ%mmm
a

T (R) : ‘RAM @‘?ﬁaﬁzﬁa
AR

(A W(A)aﬂtm(maﬁrm

3, T (R), W(A)Eﬁm%"r
=TT 2

e (A) St (R) 2w
8, AR RO (R), Strre (A)
TR e e R

A (A)W‘% %ﬁﬂW(R)
ARl

aaf’ﬁmq(A)ama;% SRR
R) TR |

XK/ T R e

LT

22 ©nf



Whlch of the followmg is/are types of:
Impact pnnter? _
(3) Laser printer

(b) Daisy Wheel Printer

() Drum Printer

(d) Inkjet Printer

A. (a)and ®), only
B. (b)and (c) only
C. (b), (c)and (d) only
D. (a)and (c) only

Python is afan -:--..--;". e
A. Operatmg System
: PI‘Ogra_mm]ng Language
Web Browser '

v now

Input Dev]ce

mﬁﬂﬁquﬁmﬁamma
(a) AR fifex '_
(b) S e frex

A ¥ () o )

B 2o,

B, ¥ (b) 3 (c)

C. ¥ (b), (c) 3 (d)
D. a%'-’Ff(a)3:1""':((:) 8

162-HCCG-BMU-REC .\
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30. Match the follawmg' '« h 30. frerferfia 7 o E-
Column-1 o 1 g whr

(a) Firefox ° _

(b) Internet Explorer . gy .

(c) Safari’ FABE (b) szﬁzqw@tt

(d) Chrome e (@ wel -
Column-II - S0 (d) W

() Mozilla ~ R -

(II)) Google - - G- () T

(IV) Microsoft P _ an mser .

A. a-II, b-1V, c-1, d-III () T
a-I, b-IV, c-1II, d-II (IV) ARHETTRE

B. _
C. al, b-III c-I d-Iv A. a-1l, b1V, c-I, d-IIl &
” |

a-IV b-III ¢, d-1 B. a-l, b-IV, c-II, d-II

i C. a-I, b-I11, c-I'*d'-'IV'
D. a-1V, b-III, c-l] d—I
31. A program written in -----—-- isa 5 -m--ﬁ%@wmﬁquaam
collection of bits and a program R . ¥ foraT T S T
written in -------- uses the symbolic i

representatlon of machine codes

A. Machine Language, High Level
Language
B. Assembly Language, Machine
- Language _ S
C. High Level Language, Machlne - D. qa\“:' RILIN mmﬁn
Language e RS
" D. Machine Language, Assembly
Language :

SPACE FOR ROUGH WORK / 1% &t o ford smrg
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B
C.
D

132, ' '
: \\‘, Al'l'anga- the followmg storage devices -

b Memory Umt

Control Umt

! None of the Above |

32. ﬁ%ﬁ&ﬁé‘hﬁ%mﬁﬂﬁa@

C. FJagFe
D. THARETE

In order of mmasmg the speed. ﬂﬁf%mﬁmﬁl
gg RAM. @ W %
Solid state dnve wifere
(©) Cache MemOIY ®) ﬁﬁ?}z W
(d) Harg Dlsk Dnve (c) QW[
(e) Optlcal Dlsc - @ e e g
A- (@), (@), @), ©). ©) Tifey FAREAR .
B. (@), (¢), ®) @), ©) - A @O.@0,0
C. (@), (e): (a), (c)’ (b) B. (dj, (e), (b), (a), (c) . : ‘ 4
D. (o), (d) (b). (3), (c) C. @, (@), @), ©), ®) .
g D QOO
33 Which unit of a‘CPU’ controls the II £l 334 ‘CPU’W#WW,WW%

' ‘activities ofall otherumts ofthe i 1= Ui & niafafEt @ R s e
computer system? g ,' |
A Au g A T,

B. Aigfe

/SPACE FOR ROUGH WORK | T T & e e
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_,____-—_—-.....__,-.....'___.;_31,—”5“:_-___,_._ s D N

34. What is the correct chronological 34 Pafafae

. 35. The speed of a super—computer is .

36. Which ﬁle format are not used to store 36. wq‘?ﬁ?ﬁaﬁﬂhﬂ %'Fﬁq

order of the following MS Windows = ﬁm%qﬁﬁmﬁaﬂﬂﬁmﬂ%ﬁmm
operating system versions? ke FT X9 ;
(a) Windows XP e, _r
(b) Windows Vista i (@) ﬁ:‘ﬂqm
(c) Windows 2000 L ) Fewfmr
(¢) Windows 7 | ‘;S @ FRwwE .
A. (a)s (b)s (C) (d)a (e) ‘5( (e) ﬁ@s\‘ 7 .- ,r .
B. (9,9 @, (), ®) ' A @, 0),©), @, @)+
C. (@), (¢), (a), (b), (e)
- B. (d), (0, ,
D. (@), (@) (@, ®), ©) ) Ed; E"; 8 Eb)) E"L
- .’C’a".a_,se
D. @), ()@, ®), %

measuredm-----.
A, IPS g
B. MIPS =
C. GPS
D. FLOPS

-;J'n

video files? - o ﬁﬂﬁﬁﬂﬁ@ﬂ?ﬁmmﬁzrﬂ
A. MOV | . 3@!”@%3@ 1

B. WEBM B |

C. BMP

D. FLV

20
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37.

39.

38.

Which device can not be used to work
N MS-Office?

A. Scanner
B. Mouse

C. Light Pen
D. Joystick

Which of the following is not anti-
virus software?

A. Avira

B. Kaspersky ¢
C. Norton - ;
D

. Oracle

Which shortcut key (s) is/are used in
spreadsheet to open the search box or
Find and Replace dialog box?

(a) Shift +F5

(b) Alt+F

(c) Ctrl+F

(d) Shift +F2

Select the correct answer from the
following options-

A. Only (¢)

B. (a), (b) and (d) only

C. (a) and (c) only

D. (a) and (b) only

37.

. 38.

39.

A7 a1 fearge g i f w0 FA &
fora 3 & fapar siTa?

A. T

fr=fefaa & @ =9 a1 dd-arE
TGRSR T8 82 |

A. JfeT

B. FEIEh ~

C. W& <

D. 3R&FA .,

e i 2 e it gt
o< dfad 91 HIse R | s |
! @ie & fere fomam smaT 82

(a) Shift+F5

(b) Alt+F

(c) Ctrl +F

~(d) Shift+F2

Preferfaa faeedt & & wE I 99-
A. Fad (c)

B. &ad (a), (b) 3 (d)

C. ¥ad (a) 3N (c)

D. &ad (a) 3 (b)

SPACE FOR ROUGH WORK / 1 @ & ferd srg
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40. Arrange the following steps for 40. sfiver ¥ g Gﬁ'( mﬁﬂz i Tty my

sending messages and attachment

: o7 3 fore, e FPRIEY) Freafefiay
confidentially in Gmail on E-mail Uit ) sraferd #
(computer only). f )
(a) Set an expiration date and (a) wmrfy foreft 3R m e B2l
Passcode. (b) BT FY
AD)gave (c) Wwaﬁ&a o ST
(¢) Onyour computer, go to Gmail.
| (d) =T
(d) Compose .
(¢) Click Toggle Confidential Mode. . () e g ot foreeh

AL (@), (), (b), (¢), (e)
B. (b), (¢), (a), (¢), (d)
C. (c), (d), (e), (a), (b)
D. (a), ®), (&), (c), (d)

A (d), @), (b), (), (&)
B. (b), (c), (a), (e), (d)
£, (©), @), (@), @), (b

D. (a), (b), (¢), (c), (d)
41.

Arrange the evolution of audio | 41, i sisror 3 e i eafea E
storage. i (a) qézﬁ?ﬂéaﬂ'vﬁlﬁ

g)) 2 1f;at mel record b) @A |

(c) Edison Cylinder Record (9 T feret e

(d) Cassette Tape i (d) HHeM

(¢) Reel to Reel Magnetic Tape

A. (), (©), (d), (b), (¢)

_B. (b), @), (¢), (), (€) ~ B: 808, @

g ((Z)) ((1)) ((ee))’ ((2’ ((2 O C© @), () (d), (b)
L D. (@), (), (e), @), (c)

(¢) T@giadmdwy
A. (a), (c), (), (b), (e)

SPACE FOR ROUGH WORK / 1w e % ford worg



2.y, .

i . Whlch of the following service is not

; pro\’ided by electronic mailing
SYstem? ]

A, Composing

Transferring
Reporting
Web Surfing

vow

_:43' For the below Assertion (A) and

Reason (R) choose the correct
alternative _
Assertion (A) : A web browser acts as
an interface between a user and the
world wide web.

Reason (R) : A user can navigate files,

web pages created with HTML.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is a
correct explanation of Assertion
(A). :

B. Both Assertion (A) and Reason
(R) are true and Reason (R) is not
the correct explanation of
Assertion (4). .

C. Assertion (A) is true, but Reason
(R) is false.

D. Assertion (A) is false, but Reason
(R) is true.

folders and websites using links on the

42.

Preaferae & e e e o
it e & nromy & Iuetey TE Bt
.%? i

.,A.mﬁm

43.

B. ZiEhfr
C. faifén
D. agEfdT

= g e s (A) SRR (R) F
fore T oo - |
ITFAT (A) : T I IS ITANTHRaAT

I fraf I FfatFmTFaTF T
F1d T 2l

T (R) : T IYANTEHAT S41C 1T 3 it

T foieh 1 IUANT = $1Eed, FBiesd AR
JeETel W AT I FwaT Rl

A. IR (A) 3R FROT (R) T G
g, SR FHR (R), ARHoT (A) Fr gt
TET B

B. 3R (A) 3R HRT (R) AT &t
2, IR FHR (R), e (A) i wdt
ST T B

C. 3IhERYT (A) w2 2, fovmg T (R)
T B

D. ¥R (A) Terd R, foRmg sRom (R)
TEr 2l '
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44. Which of the following are the
disadvantages of computer virus?

(a) It can steal the valuable data of
your computer.

(b) It disables some of your operating
system setting.

(¢) It prevents online Hackers and
Scammers.

(d) It can display pop-up ads on
computer desktop.

A. (@),(c)and (d)only
B. (a), (b) and (d) only

C. ®b)and(c)only
D. (a), (b) and (c) only

’ LT
= ¥ M
i
L

44, Freafera it & o A T
g? h,.
(a) ut.'am%ﬂhﬂ[& BRI
awayl
) aﬁq’tﬂnmé&ﬂﬁ T
2 g

SPACE FOR ROUGH WORK / mw&%ﬁﬁ“

« Wy




45, .
Match the foltowing-

46.

Column-
(@) F irewall
(b)  Nimda
(©)  Telnet
(d)  Microsoft Edge
Column-II
(I)  Protocol used to connect to other
Computer
(II) A Proprietary cross platform
Web browser
(IIT) Computer virus

(IV) Protect computer from hacker
attack

a-1, b-1II, ¢-II, d-IV
a-V, b-1I, -1, d-11
a-11, b-1, ¢-III, d-1V
a-II1, b-1V, 11, d-I

caowp>

Artificial Intelligence is-
A. Playing a game on computer
B. Creating a machine Intelligence

C. Programming on computer with
your own Intelligence

D. None of the above

(a) WIEAETT

) fw

46.

(d) WIEHETR G »

eIl
O WFIRIFRFATRT
MICIEIR . :
(1)  SSTEEd shid TIHTH o s

(I11) FFE A
(IV) FPEHI EHE & T | T

A. a-I, b-ITl, c-1I, d-IV
B. a-IV, b-III, c-1, d-Il—
C. a-ll, b-I, c-1II, d-IV
D. a-IIL b-1V, c-II, d-I
anfefefirre Rfoemg 2-
A. FFE TR AT G
B. wf $efersia = fmior ~

C. ot Rfersid | FEet 9T ST
AT |

D. TR IS A

20462-HCCG-BMU-REC-M

SPACE FOR ROUGH WORK | T T & ford e

o [THITIRIHAL o6 serc




»0462-HCCG-BMU-REC-M

. 47. What is the storage capacity in C.D.? 47. o}, &, &Y sigror aﬁﬁT 1 8?
: B. 700 KB b
D. 900 MB G THLME T .
' D. 900 MB 5
. Arrange the sequence of storage unit 48. @Rﬁrqﬁzﬁmﬁq% A H Tt
in ascending order. #Hifmy 225
(a) Kilo Byte . _
(b) Mega Byte (@) ﬁ’—‘:ﬁm .
(c) Byte (b) FmARE
(d) GegaByte (c) =
A @), ®), @), @ CIRUALE
B. (), ©, (@), @'’ A. (a), (), ©), (df;’f,.
C. (0 (@) (), (). B. (),(©), @, @
D. (a), (b), (d), () C. (©) (@), (), (df”
D. (a), (b), (d), (c)
SPACE FOR ROUGH WORK / “W%ﬁj—;—m— - _



Match the following-. 49. frafafea i feme. -
& (@) Cp-r W&
o) BVDasonk (a) SIL-3R,
L © CDrw | ® ddh@dm
¢ (@ DVDRw : _ (c) HZ-IMIT=Y
: Column-II ' (d) dHd-smEyg
(D Wri any ti
. Ste Once read many times | m [
 (I) Rewriteable DVD and can be | () TR #W‘ﬁfm?ﬂ‘
Ir crased, changed. ; m y:mﬂzﬁwaﬂtﬁzmmm-
{ (IIT) Is a read/write a compact disk. A IS 1 1 LA B 1
(IV) A read only DVD memory is © () fored iR agAeTen s fewh,
| used to store the files | ' A G S
permanently which can not be : Iv) * &
changed. - ' foTT et ven I St E At
A. a-1, b-1I, oI, d-TV | - I fie s 8, o s
B. a-I, b-IV, ¢-III, d-II G '
C. a-III, b-1V, c-I, d-II - A. a-Lb-IL eI, d-IV
D. a-lIl, b-II, c-I, d-IV | B. a-I, b-1V, c-III, d-II
C. a-IIl, b-1V, c-I, d-II
D. a-III, b-II, c-1, d-IV

SPACE FOR ROUGH WORK / T& &1d & fera wmg

20462-HCCG-BMU-REC-M 21 |”"I"I”“I"""I"“ 44 SetC';
L




50. Which is not a search Engine?
(a) Infoseek
(b) Google
(c) Internet Explorer
(d) AltaVista

A. Only (a)
B. Only (d)
C. Only (2) and (c)
D. Only (¢)

b
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